o Nl wIN = Z
o

R D A B N
AW N — O

Angle adaptor 30800
Upper part

Glid bush w flange, SFB 08075
Lower part

Popnut M6

Washer M8 D16

Screw M8X30

Nut M8

Rubber packing

Metal ring

Screw M6X25

Pre-assembly plate

Nut M6

Airtube @ 45mm (price/m)
Clamp 38-50mm

N = NN = =N NN = N — Amount
*

110 mm
4.3"

175 mm
71/
\
i
) 114 mm
- 45
\
104 mm
411

TAWI

Box 10205 434 23 KUNGSBACKA Sweden
Tel +46 300 185 00

AWl.com



